	The Hare and the Turtle

	Exercice 1

	1) Make the symmetrical of the hare in relation to the A dot, then about the (D) straight line.

	[image: image1.jpg]Construire le symétrique du lidvre par rapport au point A,
droite (D).
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	2) Make the symmetrical of the turtle in relation to the A dot, then about the (D) straight line.

	[image: image2.jpg]Construire le symétrique de la tortue par rapport au point A, puis par rapport a
la droite (D).







	Exercice 2

	Jeannot the hare and Louise the turtle decided to do a race on a 500 meters distance.  Jeannot, very sure of himself, let Louise go. He decided that he would go at 50km/h only when Louise, who begun at 2km/h, would be at 20 meters from the finish line.

What will happen?


